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Solutions 

 

S1. Ans.(b) 
Sol.  

 
  
S2. Ans.(c) 
Sol.  
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S3. Ans.(a) 
Sol. 

  
 
S4. Ans.(a) 
Sol.  

 
 
S5. Ans.(c) 
Sol.  
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S6. Ans. (d) 
Sol.  

  
 
S7. Ans.(d) 
Sol.  

   
 
S8. Ans.(b) 
Sol.  
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S9. Ans.(a) 
Sol.  

 
 
S10. Ans.(b) 
Sol.  

   
[ Hitting method → ABD is right angle triangle Hypotenuse = 5 so, either base (BD) and perpendicular 
(Ad) is 3 & 4. Because of Triplets (3, 4, 5). In any case area = ½  × 4 × 3 = 6]  
 
S11. Ans.(a)  
Sol.   
Centroid of ∆ABC coincide with the centroid of triangle formed by mid-points of AB, BC and CA. 
∴ Required coordinates  
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S12. Ans.(d) 
Sol.  

  
 
S13. Ans.(c) 
Sol.  

 
 
S14. Ans.(c) 
Sol.  

 
 
S15. Ans.(c) 
Sol.  
Let A(a, 0) and B(0, b) be two points on respective coordinate axes 
and (–5, 4) divides AB in the ratio  
1 : 2.  

 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/


6 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

S16. Ans.(c) 
Sol.  

 
 
S17. Ans.(b) 
 
S18. Ans.(d) 
Sol.  

 
 
S19. Ans.(a) 
Sol.  
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S20. Ans.(d) 
Sol.  

 
  
S21. Ans.(c) 
Sol.  

 
 
S22. Ans.(c) 

Sol.  
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S23. Ans.(b) 

Sol.  

 
 

S24. Ans.(a) 

Sol.  

 
 

S25. Ans.(C) 

Sol.  
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S26. Ans.(b) 
Sol.  

 
 
S27. Ans.(c) 
Sol.  
GIVEN DIAGRAM PQ is diameter of circle with center O, angle AOB=64 

 
If we draw line AP Then 
∠APB = ½ ∠AOB =32   (Angle at circumference with same arc is always half of the angle at center) 
∠PAQ = 90     (angle at semicircle with diameter is always 90) 
So,  
∠AXP = 180 – (∠APB+∠PAQ)=180-(90+22) = 58° 
 
S28. Ans.(c) 
Sol.  
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S29. Ans.(b) 
Sol.  
ACCORDING TO QUESTION FIGURE IS DRAWN, two circles with center E & F 

 
   
S30. Ans.(a)   
Sol. 
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